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— 9915 R 29 N2 NON
Rather from here; a guarantor who went forth, etc.

OVERVIEW

X237 attempted to resolve the query of 1127 whether *1pR% 7v7 (7WR), from the case
of a guarantor who guaranteed the loan after the 0w was signed and delivered to
the m>n. The only way that his guarantee is effective (and the 27V is obligated to
pay) is if the m>» gave the W to the 27, was mpn it to him, and then the 27
returned it after adding his acceptance as a guarantor. mMo0n will be discussing two
types of liability; one where a person admits to a prior obligation, and another
where a person creates a new obligation.

mooIn asks:
— \’J"pb V99 9Ny »2H M99 ix,ap 91 mams) NYIIN WIS PNy 99%24Y nvp

The "= has a difficulty for there is a dispute between %' 9"'7 in the beginning
of Nw17 P -

— 2931 799 NN DNN YIRDY VYA NI 1Y %N 2Na
Regarding the case where the M wrote in a 9vw, ‘I owe you a 773%»’; and X2 said
there that the np17n7 between 2" > is like the 23811 NP7 in this case of 27y

NVY 2NN INRY RYP5 -
— N1 X2OWN N 9994 *D903Pa WD)

And the o7v1p explained there that "1 "1 argue whether writing 7% °1X 21 in

a Y is considered an admission -
- van 19N NYYI 29y AYYIT ATV ANTID OIVN 159 2910 2997 YNHRYUN )2 ON

" The npr>mn between "1 > is on 2,8p. The *Xin is on X,3p.
2 5xymw» " maintains that the M9 can collect from the 1" °12 2°021 of the 27¥ and 011 12 maintains he cannot collect
at all from the 27y. Therefore > follows the view of Y8vnaw> ' and the m? is liable, while " follows 011 11 and the
M7 is Mw.
3 See there IR 1"7 (1) '010 2,8p that IXTIT XPWM 1M 2277 RIWWT KNPH RIRT.
* Generally for an admission to be considered a valid admission it must be said in the presence of two witnesses and
the 771 has to tell them "7y anXk' you are my witnesses for this admission. The power of the 2vw (according to >") is
also sufficient to consider it a proper XTI
> An myn 10 NEwa 27 is an effective 27w for his obligation to pay is caused by the fact that the m%» lent the money
based on his guarantee. However an my» n» 2nx? 279 would not be considered an 27V since the Mm% did not lend
any money based on the guarantee of the 27¥; he had already lent the money without the 21v. The reason 2xynw> "
maintains that there is a 21 for the m1vw 21N°n RS XY 27 is because we consider adding his name on the oW as
an admission that he became an myn» 12 NYw1 27v. Similarly >"1 maintains that when he wrote in a 70w that "1 271
mn 72 he is admitting that he borrowed money sometime in the past (but not that this 0w is creating a new
obligation).

1

TosfosInEnglish.com



N7R 71"7 '010 R,RD 70A 702

If this is indeed so that the npY?nn between 5" °"7 is whether a w2 ARTIT is
considered a proper nx7V1, it would seem that the =27y is liable to the mon
because of admission, that the 127y admits that he became an 29» when the

money was given to the m?. We need to assume this -
— NYY NY NN
Since X217 cites the case of 27¥ as a corollary to the dispute between "1 "9, so just like
5" °"q argue whether a qwWw2 IR is a AR similarly PXynw ' and 011 32 argue whether the
notification of the 17y after M VW 0w°n is a proper admission that he actually became an 1Y
previously when the loan became effective -
— *nnyn 29NNNY 1OWI Tawn XD NIVY NYNNA $RYN NI
However, from our X713 here it seems that with this writing in the 2w the 27 is
committing himself to be liable from now on (and it is not an admission that he already
obligated himself previously nyn jnn nyw21).

mooIN cites an alternate interpretation:
— N9 ANTIN DIUN WIDN NYT ONNT BN 19539 YIsaY)

However, it is understood according to the explanation of the n''1 there where

he does not explain the reason of *"1 is because of admission, but rather the writing
7 T2 °IX 21 in a W creates a new obligation. However there is still a difficulty according to
the 07v1P7 "o that he is liable because of admission.

N1B0IN answers:
— INYNYO 229 D3 12 1999 HN9NT MY W

And one can say; that >''7 and 1'"'2 argue in two cases -

— PYI¥N 29Y NYYI INY 1 ANV 1?2 29Y 2INY D710 NI 90V 2NdY )’
Whether he wrote in the "vw, ‘and I admit that I am an 29y from before’ or
whether he wrote in the 20w, ‘and I am becoming an 29y as of now’ oin x>

mauw; in both cases "1 maintains you may collect from the (377 °12 0°031n) 17y, while 1"
maintains you cannot collect at all from the 27y —

% The x7»3 here cited the case of MW 2NN XY R¥P7T 27 to prove that »1px> v7; if the obligation of the 27 is
being created now N1MvW 2w R, then it is understood that the Mm% needs to be n1pn the W to the 27w, so that
there should be a binding obligation; however if it is merely an admission that he was 72ywn himself previously
myn nn nyw3, there is no need for any 1P now; it is merely an admission. The obligation is from myn» jnn nywa.
7 ®2°9% 7"7n X,2p. The n"- there maintains that 5" *"3 are not arguing about X717, but rather that the m? is writing
a 7w to obligate him to pay as of now. Therefore it is comparable to 131 X¥1j7 27 since in both cases we are
creating a new obligation, which requires a 1p.
¥ >"3 maintains that an ML DIN°T MRS X¥PA 27 is obligated to pay whether he admits that he was an 27 earlier
myn jnn nyw3, or whether he is creating now an obligation to guarantee the loan by writing it now in the 70w. The
X713 in M21n> which discusses X717 (according to the 07UNPHA ") compares it to the X7 of the 27¥. Our X 3 here
compares it to the creating of a new obligation by the 27¥, which requires a 11p.
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mooIn justifies that the nY?nn is in both of the aforementioned cases:
— INRTINA PIVOT YNIYN MHIVY DINN NN RN 29Y 2INPT NYIIT

For the 8w of the mwn which states mauw 2w K> X317 27, indicates

that their argument is regarding admission whether it is a valid admission that he was
an 17y previously, or not. It is indicated that the np12mn is in IRTI -
— 25 MmN )N NYWA XYY 29Y NIWY SN VDI N9

Since the mw» did not use the expression, ‘np» Jn» NYwsa KOW 37 is 2717,

There is also an indication that they argue in creating an obligation (not admitting to one):
— 213N %33 5997 ¥PYN 195N PN NIV 590 KOOI 1YY 91N

For since 011 72 replied in the X2°0 to °", ‘if he was chocking his friend, etc,’
this indicates that they are also arguing in a case of ‘chocking’.

Now that we know the argument between >"1 and 1"2 is both regarding admission and creating an
obligation, we can understand our X723:
— P35y q0Wn 790 XYY 29 YY R T1aynunT 1nn Xon 3590

And the X713 here brings its proof from the case of pun where the 27V is Taynwn
even though the 2vw was not his; it must be because the M%7 is »1IpR? ¥7°.

mMooIn responds to an anticipated difficulty:
— 5515 721 1715 N3 1YY NN 131)5'\‘1 2) Yy OGN ANTING 2097 DIVIPN VIV

And according to ©9w21p7 '>p that "1 " (and 1"21 °") argue regarding 877,
even though the mawn teaches, if the Mm% presented the handwriting of the mb

that he owes him money, the Mm>» can collect P 12 o051, How can there be an
argument whether 70w 7% °I1X 217 is a valid admission when the miwn clearly states that the 7197
may collect —

% If their npYomn is only regarding the ability of the 27v to create a new obligation after my» 1nn, it should have
clearly stated that nw» Jnn NYw3a X2w 27y is 271 (because he has the ability to create a new 2v1). However since the
TIwn writes 191 MOVY 2N°R NRY XX 27V, that 210 can be interpreted that it is a result of his X771, but not a new
2.
10 The mwn there states that 011 12 argued with > saying: NX X 17 17137 12 WARY 17720 IR P12 17720 DR PN A A
127 INNAR PV KW wd 7. If a M was choking the m? in the marketplace and the potential 27¥ said to the M7,
‘leave him alone and I will pay you’, the 27¥ is obviously 719, since the m>n did not lend the money to the m? on
account of the 27y.
" This Mavw can only take effect if there was a quw2 7°1p.
"2 The X3 in M2n3 according to 0IVNP: D, says *Xin3 because " and 1"2 also argue in a case of X7V, just like >3
oM.
B9 n9p 2.
'* The n"1 will differentiate that the 71wn is discussing where the m% admitted to borrowing money, while 7" >3
are arguing where the M7 intends to create a new obligation. See ‘Thinking it over’.
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mooIn responds:
— Boann N9Y 1719HN99) YHND 0NN AN ONN

There in the 7wn we are discussing a case where the Mm% wrote and signed
underneath it (therefore he is 2r), however the dispute between %" "1 is

where he did not sign; he merely wrote 77 >1x 2n.
1[0y 2392 90VYN Y 99121] 29Y 2IN ANIY NIHN ann XYW 199N 1) A9

And regarding the 39y it will be necessary to say that the 27¥ did not sign, but
rather he wrote, ‘I am the 29¥° [and he gave the 2w to the M7 in the presence
of witnesses].

SUMMARY

The npY7nn between 2Xynw> " and 011 32 regarding a MILYW DM NN KX 27 is
both when the 17y admits that he was obligated previously myn jnn nywa or
whether the 27V intends to create a new obligation as of now.

THINKING IT OVER

Where is there more reason to obligate the M7, when he is admitting to a previous
loan, or when he intends to create a new obligation by writing 711 72 217 X in a
Tow?'’

1% See also D9 (3"71) 7"7 2,8p M2AMD "W,
' If the 27 signed it would be the same as 17> 203 19 ®°¥171 and he would be obligated to pay.
17 See 9™w 0" and n"'ma.
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